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Directions : Answer the following questions
by selecting the correct option.

1. The author of Historica is

(A) Justin

(B) Arrian

(C) Herodotus
(D) None of them

‘India’ derives its name from
(A) the Hindus

(B) the Aryans

(C) Indra

(D) River Indus

The people of Harappa did not
worship

(A) Mother Goddess
(B) Pashupati, a male God
(C) Vishnu

(D) various animals

One of the pioneers of materialistic
philosophy was

(A) Vishwamitra

(B) Charbak

(C) Brihaspati

(D) None of them

The term Nirgrantha’ is associated
with

(A) Ajivikas

(B) Jainisms

(C) Buddhisms

(D) Animisms
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10.

Who among the following was not a
Buddhist thinker?

(A) Nagarjuna

(B) Gunabhadra

(C) Vasubandhu

(D) Asanga

Which of the following is the impact
of the Macedonian invasion?

(A) Gandhara Art

(B) Foundation of Mauryan empire

(C) Opening of land and sea routes
between India and the West

(D) All of the above

The Achaemenian king defeated by
Alexander was

(A) Cyrus

(B) Darius I
(C) Darius III
(D) Xerxes

Tools like axe, cleaners, choppers
were known to the inhabitants of

(A) Lower Palaeolithic Age
(B) Middle Palaeolithic Age
(C) Upper Palaeolithic Age
(D) None of the above

Which of the following statements is
correct?

(A) Ashoka was the viceroy of
Ujjaini prior to his ascending
the throne.

(B) Ashoka took the
‘Amitraghata’.

title of

(C) Ashoka conquered Anga.

(D) Deimachos, an ambassador
from Syria visited his court.
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11.

12.

13.

14.

15.

Which of these animals is not

carved on the ‘Sarnath pillar’?
(A) Elephant

(B) Horse

(C) Deer

(D) Bull

‘Charaka’ was the court physician of
(A) Chandragupta Maurya

(B) Kanishka

(C) Ashoka

(D) None of them

Nasik inscription is associated with
(A) Gautami Balasri

(B) Devi Nayanika

(C) Rudradaman

(D) Kharavela

Which is the correct chronological
order?

(A) Samudragupta—Chandra-
gupta [—Chandragupta II

(B) Chandragupta [I—Samudra-
gupta—Skandagupta

(C) Chandragupta [—Chandra-
gupta [I—Vishnugupta

(D) Samudragupta—Chandra-
gupta [[Kumaragupta

Odantapuri Vihara was established
by

(A) Gopala

(B) Dharmapala

(C) Lakshmana Sena

(D) None of them

11.

12.

13.

14.

15.

G2 Al W @0 MY TS -9
e ==+ 2

(a) =@

(B) carel

(C) =R

(D) 3T

‘AT @ A wEE-Bfieo fegem
fofe =

(A) vHBY T

(B) sl

(C) =F

(D) GMF (FT2 7

b @R Te

(A) TS =T A
(B) vdl = e
(C) @AM A

(D) <RCACER

FOTE S PG P 2

(A) FTUBL— PUBY—HOR PUBY
(B) faSR mu8d—Tusd—Fv3Y

(C) =A% TuBY—TAoR PRI RRed
(D) “UB%—@eN PuRI—FAALY

e[l a2 2wl seafece
(A) corIrt

(B) &sffret

(C) T=I T

(D) GME (FT2 o



16.

17.

18.

19.

20.

Gangaikonda Cholapuram was built
by

(A) Rajaraja Chola

(B) Rajendra Chola

(C) Rajadhiraj Chola

(D) None of them

Who built the chariot temples at
Mahabalipuram?

(A) Mahendravarman I

(B) Narasimhavarman I

(C) Paramavishnuvarman I

(D) Aparajita

Which statement is not true about
Champa?

(A) There were many Hindu and
Buddhist temples in Champa.

(B) India played an important role
in the culture of Champa.

(C) Images of Shiva, Vishnu,
Krishna were depicted in the
temples.

(D) Indraprastha was its capital.

Which is the largest brick temple of
ancient India?

(A) Temple of Bhitargaon
(B) Konark temple

(C) Dashavatara temple
(D) None of the above

Which of the following describes the
Periclean age?

(A) A time when Athens was under
the rule of the tyrants

(B) A time when Sparta ruled over
Athens

(C) A time when Athens was poor
and weak

(D) A time when art and democracy
flourished in Athens
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21.

22.

23.

24.

25.

Which Greek City-State introduced
compulsory military training for all
male citizens?

(A) Corinth
(B) Thebes
(C) Megara
(D) Sparta

What was the peoples’ court known
as in Athens?

(A) Ecclesia

(B) Heliaea

(C) Pnyx

(D) Eunomia

Who were the members of ‘Gerousia’
in Sparta?

(A) The soldiers

(B) The slaves

(C) Only male citizens who were
more than 60 years of age

(D) Members of the royal family

During the feudal period in Europe
the power and position in the society
was determined by

(A) number of slaves owned
(B) amount of income earned
(C) amount of land possessed

(D) academic achievement

Names of the ports associated with
Indo-Roman trade were

(A) Barbaricum and Arikamedu
(B) Barbaricum and Saptagram
(C) Arikamedu and Tamralipti
(D) None of the above
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26.

27.

28.

29.

30.

Which city is often called the birth
place of Renaissance?

(A) Rome

(B) Venice

(C) Florence

(D) Milan

The invention of which of the

following helped Martin Luther most
in spreading his ideas?

(A) Gunpowder

(B) Printing press

(C) Telescope

(D) None of the above

Identify the correct pair.
(A) Bartholomew Diaz—South Pole
(B) Amundsen—Sea Route to India

(C) Vasco da Gama—Cape of Good
Hope

(D) Captain James Cook—Hawaiian
Island

One of the results of Crusades was
an increased trade between the
Middle-East and

(A) East Asia

(B) Africa

(C) Europe

(D) None of the above

During Akbar’s reign, agricultural
land was categorised as

(A) Polaj and Parauti
(B) Parauti, Chachar and Banjar
(C) Polaj and Banjar

(D) Polaj,
Banjar

Parauti, Chachar and
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31.

32.

33.

34.

35.

The two Mughal emperors who wrote
their own memories were

(A) Babur and Humayun
(B) Humayun and Jahangir
(C) Babur and Jahangir

(D) Akbar and Babur

During whose reign was the number
of Mansabdars highest?

(A) Akbar

(B) Shah Jahan
(C) Aurangzeb
(D) None of them

Who introduced the postal system?
(A) Humayun

(B) Sher Shah

(C) Akbar

(D) None of them

The rulers of Vijayanagar promoted
agriculture by

(A) building dams, tanks, wells, etc.

(B) reducing taxes on cultivable
land

(C) providing market facilities for
crops

(D) purchasing food grains for the
army

Shivaji was succeeded by
(A) Shahji

(B) Raja Ram

(C) Sambhaji

(D) None of them
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36.

37.

38.

39.

40.

Who was an exponent in playing the
veena?r

(A) Babur

(B) Akbar

(C) Shah Jahan
(D) Aurangzeb

To which Sufi sect did Nizam-ud-din
Auliya and Nasir-ud-din Chirag
belong?

(A) Nakshbandi

(B) Chisti

(C) Soharwardi

(D) None of the above

In ancient India, women could
inherit property through which of
these laws?

(A) Mitakshara

(B) Dayabhag

(C) Both (A) and (B)
(D) None of the above

The co-rulers of Cleopatra were
[. Ptolemy XII

II. Ptolemy XV Caesarian

III. Ptolemy XIV

IV. Ptolemy XIII

(A) I, IO, III

(B) I, III, IV

(C) I, 1Iv, III

(D) All of them

Which of the following statements is
incorrect about Rani Durgawati?

(A) She ruled Gondwana.
(B) She was a great warrior.

(C) She shifted her capital near
Satpura Range.

(D) She was a contemporary of
Aurangzeb.
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41.

42.

43.

44.

45.

Of the following, who were the first
to invade India?

(A) Arabs
(B) Turks
(C) Afghans

(D) Persians

Which Sultan first introduced token
currency in India?

(A) Ala-ud-din Khilji

(B) Firuz Shah Tughluq

(C) Itutmish

(D) Mohammad bin Tughluq

Indicate the correct chronological
order.

(A) Kabir—Nanak—Chaitanya—
Tulsidas

(B) Kabir—Chaitanya—Nanak—
Tulsidas

(C) Nanank—Chaitanya—Kabir—
Tulsidas

(D) Nanak—Tulsidas—Chaitanya—
Kabir

Who among the following was not a
famous painter during Jahangir’s
reign?

(A) Mir Sayyid Ali

(B) Farrukh Beg

(C) Mohammad Nadir
(D) Mohammad Murad

Who did not belong to Akbar’s
court?

(A) Bihari Mall
(B) Todar Mal

(C) Janakiballav
(D) Bhagwandas
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46.

47.

48.

49.

50.

Mir Bakshi in Akbar’s adminis-
tration, looked after

(A) Military affairs
(B) State treasury
(C) Royal household
(D) Land revenue

Which of the following is not true?

(A) Murshid Quli Khan was the
founder of Bengal Nawabi.

(B) Shah Jahan appointed him as
the Dewan of Bengal.

(C) Internal and external trade grew
enormously in his time.

(D) His revenue system was the

Malzamini system.

Ryotwari was a Revenue Settlement
between East India Company and
the

(A) Zamindars
(B) Cultivators
(C) Mugaddams
(D) None of them

Which of the following statements
is correct?

(A) Tipu Sultan had interactions
with Sankaracharya of Sringeri
through letters.

(B) Srirangam temple was built
near his palace.

(C) Tipu Sultan ordered
reconstruction of the Sarada
Math of Sringeri.

(D) All of the above

The High Courts of Calcutta,

Bombay and Madras were

established in the year

(A) 1860

(B) 1858

(C) 1891

(D) 1862
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51.

52.

53.

54.

55.

Which of the following statements is
incorrect about the Treaty of
Amritsar?

(A) It was signed after the First
Anglo-Sikh war.

(B) Ranjit Singh gave up his
demand for occupying land
between Sutlej and Yamuna.

(C) He promised to protect British
mercantile interests in Punjab.

(D) It was signed in 1809.

Which was not a pioneer industry in
British India?

(A) Cotton

(B) Iron

(C) Jute

(D) None of the above

The treaty of Bassein (1802) was
signed between East India Company
and

(A) Baji Rao I

(B) Baji Rao 1I

(C) Balaji Baji Rao
(D) None of them

The textile industries declined in
18th Century Bengal due to

(A) decline in quality production

(B) non-availability of raw materials

(C) high tariff rates on exports to
Britain

(D) None of the above

The major famines in British India
were the consequence of

(A) insufficient rainfall

(B) British economic
administrative policies

(C) Both (A) and (B)
(D) None of the above

and
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56.

57.

58.

59.

60.

Which is not true about Rammohan
Roy?
(A) He preached monotheism.

(B) He tried to unite the various
monotheistic sects of Bengal.

(C) He founded the
College.

Vedanta

(D) He opposed idol worship.

Who was not a direct disciple of
Derozio?

(A) Ramtanu Lahiri

(B) Michael Madhusudan Dutta
(C) Radhanath Sikdar

(D) Tarachand Chakraborty

Who was known as a ‘Warrior
Monk™?

(A) Derozio

(B) Vivekananda

(C) Vidyasagar

(D) Subhas Chandra Bose

First widow remarriage took place in
(A) 1857
(B) 1855
(C) 1858
(D) 1856

Which of the following statements is
correct?

(A) The Arya Samaj was founded by
Dr. Atmaram Pandurang.

(B) The founder of Navavidhan
Samaj was Swami Dayanand.

(C) The Deccan Education society
was set up by Justice Ranade.

(D) The Theosophical Society was
established by N. M. Joshi.
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61.

62.

63.

64.

65.

Which of the following was not
founded by Syed Ahmed Khan?

(A) Scientific society
(B) Mohammedan Association

(C) Mohammedan
College

(D) United
Association

Anglo-Oriental

Indian Patriotic

One of the important objectives of
the Wahabi movement was

(A) spreading of education among
Muslim women

(B) reviving the purity of Islamic
principles

(C) non-payment of revenues to the
Zamindars

(D) protest against British laws

Which is true about the Santhal
Rebellion?

(A) Santhals were from Rajmahal
hills.

(B) Sidhu and Kanhu were their
leaders.

(C) It started in 1855.
(D) All of the above

Which one is not true about the

Great Revolt of 18577?

(A) Nana Sahib led the revolt from
Nagpur.

(B) Begam Hazrat Mahal led the
revolt from Lucknow.

(C) Bahadur Shah II was declared
the leader of the revolt.

(D) Lakshmi Bai died in 1858.

Who was the first non-Indian
President of Indian National
Congress?

(A) George Yule
(B) W. Wedderber
(C) Lord Dufferin
(D) A. O. Hume
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66.

67.

68.

69.

70.

When did the province namely ‘East
Bengal and Assam’ emerge?

(A) 1900
(B) 1905
(C) 1920
(D) 1947

Founder of Dhaka Anusilan Samiti
was

(A) Aurobindo Ghosh
(B) Sachindranath Sanyal
(C) Bhupendra Nath Dutta
(D) Pulin Behari Das

Arrange the following Gandhian
movements according  to its
chronological order:

I. Movement against Rowlatt Act
II. Kheda Movement

III. Champaran Movement

IV. Dandi Satyagraha

(A) I—II—III—IV

(B) IV—I—III—II

(C) I—IV—III—I

(D) HI—II—I—IV

One of the founders of Communist
Party of India in Tashkent was

(A) M. N. Roy

(B) Muzaffar Ahmed

(C) S. A. Dange

(D) None of them

Who among the following was
not associated with the Kakori
Conspiracy Case?

(A) Bhagat Singh

(B) Ramprasad Bismil
(C) Ashfaqullah Khan
(D) Chandrasekhar Azad
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71.

72.

73.

74.

75.

Who gave the slogan ‘people’s war’
during the World War II?

(A) Forward Bloc
(B) Communist Party of India
(C) Indian National Congress

(D) None of the above

The women regiment of INA was
known as

(A) Rani Lakshmi Bai Regiment
(B) Matangini Regiment

(C) Kasturba Regiment

(D) Rani Jhansi Regiment

Who was associated with the Indian
Independence League?

(A) Bhagat Singh

(B) Chandrasekhar Azad
(C) S. M. Joshi

(D) Rashbehari Bose

Which Act introduced communal
electorate in India?

(A) Act of 1909
(B) Act of 1919
(C) Act of 1935
(D) None of the above

What is true about the Telengana
movement?

(A) It was a peasant movement
against feudal lords.

(B) It was led by the Communist
Party.

(C) P. Sundaraiya was its leader.

(D) All of the above
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76.

77.

78.

79.

80.

The Cabinet Mission was appointed
in the year

(A) 1942
(B) 1944
(C) 1946
(D) None of the above

The Agreement through which
Jammu and Kashmir became a part
of India is

(A)
(B)
(C)

Instrument of Accession
Indian Independence Act

Jammu and Kashmir Peace

Accord

(D) Plebiscite

Which country provided military
support to America’s War of
Independence?

(A) France
(B) Spain
(C) Russia
(D) None of the above

Who among the following comprised
the ‘First Estate’ in pre-
revolutionary France?

(A) Nobles and Landlords

(B) Clergy

(C) Common people

(D) Bourgeoise

Who may be regarded as the most

important leader of the TReign of
Terror™

(A) Lafayette

(B) Robespierre
(C) Louis XVI
(D) None of them
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81.

82.

83.

84.

85.

In 1812, Russian Campaign,
Napoleon had to face which tactics
of the Russians?

(A) Divide and attack

(B) Guerilla warfare

(C) Scorched-earth policy
(D) None of the above

Name the author of Organization of
Labour.

(A) Louis Blanc

(B) Louis-Philippe
(C) Louis Kossuth
(D) None of them

Which of the following was not one
of the goals of the Vienna Congress?

(A) Legitimacy

(B) Establishing
France

Democracy in

(C) Compensation

(D) Balance of power

Who was known as the ‘citizen

king™?

(A) Louis-Philippe
(B) Napoleon III
(C) Louis XIV

(D) None of them

Which was a flourishing industry in
England?

(A) Cotton textiles
(B) Jute

(C) Iron

(D) None of the above
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86.

87.

88.

89.

90.

91.

Bismarck’s foreign policy may be
defined as

(A)
(B)
(€)
(D)

liberalism
socialism
real-politik

None of the above

Who was the first king of united
Italy?

(A) Victor Emmanuel II
(B) Victor Emmanuel III
(C) Victor Emmanuel IV
(D) None of them

Whose colony was Madagascar?
(A) Italy

(B) Britain

(C) Germany

(D) France

The signatories of the ‘Reinsurance
Treaty’ were

(A) Germany and France
(B) Germany and Russia
(C) Austria and Russia

(D) France and Russia

Which country was a member of the
League of Nations?

(A) USA

(B) Switzerland

(C) Argentina

(D) None of the above

To which alliance group did Italy
belong prior to World War I?

(A) Triple entente
(B) Triple alliance
(C) Balkan league
(D) None of the above
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92.

93.

94.

95.

96.

97.

What does UNO stand for?

(A) United Nationalist Organization
(B) Union of Nations Organization
(C) Unity of Nations Organization

(D) None of the above

Indicate the correct statement.
(A) The treaty of Brest-Litovsk was
signed in 1918.

(B) It was signed between Bolshevik
Russia and Germany.

(C) It ended Russia’s participation
in World War I.

(D) All of the above

Who raised the slogan “Nationalism
is our Socialism”?

(A) Hitler

(B) Franco

(C) Mussolini

(D) None of them

Which of the following paid tributes
to China?

(A) Korea

(B) Annam

(C) Siam

(D) All of the above

The main participants of the May
Fourth Movement were the

(A)
(B)
(C)
(D)

nobles

students

traders

None of the above

Which one is wrong about the ‘Long
March™

(A) The span of the March was
1930-1932.

(B) The Chinese Communist Party
conducted the March.

(C) Mao Tse-tung and Chou-en-lai
were the leaders.

(D) It traversed almost 9000 km.
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98.

99,

100.

101.

102.

Which country did not participate
in the Washington Conference?

(A) USA

(B) USSR

(C) Great Britain

(D) Portugal

Who was the most important

leader of the Palestine Liberation
Organization?

(A) Gamal Abdel Nasser

(B) General Neguib

(C) Yasser Arafat

(D) None of them

Which international agreement split
Vietnam in 19547

(A) Treaty of Hanoi

(B) Treaty of Paris

(C) Geneva Accord

(D) None of the above

The two super powers during the
Cold War period were

(A) USSR and USA
(B) Britain and France
(C) USSR and Germany
(D) Britain and USA

The Truman Doctrine aimed at
(A) sending financial aid to Europe

(B) putting an end to the spread of
communism

(C) limiting the build up of nuclear
arms

(D) expanding trade in Europe
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103.

104.

105.

106.

107.

The American President during the
Cuban crisis was

(A) Ronald Reagan
(B) Lyndon Johnson
(C) John F. Kennedy
(D) None of them

Identify the correct chronological
order of these conferences relating
to World War II.

I. Casablanca

II. Potsdam

III. San Francisco

IV. Yalta

(A) I—II—III—IV

(B) I—III—I—IV

(C) HI—I—IV—II

(D) IV—I—II—III

On the eve of India’s Independence

the Constituent Assembly was set
up on the recommendation of

(A) Cripps Mission
(B) Cabinet Mission
(C) Wavell plan

(D) None of the above

When was the Indian Constitution
adopted by  the Constituent
Assembly?

(A) 26th November, 1949
(B) 26th January, 1950
(C) 15th August, 1947
(D) None of the above

Who, as the Education Minister of
Tripura, first recognised the schools
founded by Jana Siksha Samiti?

(A) Rana Bodh Jung
(B) D. A. W. Brown

(C) Bijoy Kumar Sen
(D) None of them
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108.

109.

110.

111.

112,

113.

When did ‘Independent Tripura’
become ‘Hill Tripura’

(A) 1866
(B) 1860
(C) 1880
(D) 1947

The first Prime  Minister of
Independent Bangladesh was

(A) Mujibur Rahman
(B) Syed Nazrul Islam
(C) Tajuddin Ahmed
(D) None of them

Who first proclaimed the title of
‘Tripurendra’?

(A) Ratna Manikya
(B) Ishan Manikya
(C) Dharma Manikya
(D) None of them

Which statement is not correct

about SAARC?

(A) It stands for South Asian
Authority for Regional Co-
operation.

(B) It was founded in Dhaka in
1985.

(C) Initially there were 7-member
countries of South Asia.

(D) It aimed at promoting socio-
economic cultural welfare of the
region.

The tax paid by the Jiratias’ is

(A) Lahar

(B) Nankar

(C) Ghasuri

(D) None of the above

The meaning of ‘ker’ is
(A) surrounding

(B) sanctity

(C) Both (A) and (B)
(D) None of the above
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114.

115.

116.

117.

118.

‘Devatamura’ is situated on the
banks of which river?

(A) Haora

(B) Gomati

(C) Manu

(D) None of the above

The fourteen major banks were
nationalised by the Government of
India in the year

(A) 1967
(B) 1963
(C) 1962
(D) None of the above

Who introduced State Civil Service
in Tripura?

(A) Bir Bikram Manikya

(B) Radhakishore Manikya
(C) Bir Chandra Manikya

(D) Birendra Kishore Manikya

Which is not correct?

Non-Alignment aimed at struggle
against

(A) imperialism

(B) communism

(C) colonialism

(D) racism

The last political agent of Tripura
was

(A) A. W. B. Power

(B) C. W. Bolton

(C) J. C. Price

(D) J. Toynbee
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119.

120.

121.

122.

123.

124.

Who first issued coins in his own
name in Tripura?

(A) Govinda Manikya

(B) Radhakishore Manikya
(C) Vijay Manikya

(D) Ratna Manikya

Who appointed Nilmoni Das as the
Dewan of Tripura?

(A) Bir Chandra Manikya
(B) Radhakishore Manikya
(C) Ishan Chandra Manikya
(D) Krishna Manikya

Fakiran, Inam, Khanebari, Ayma in
the administration of princely
Tripura meant

(A) administrative posts
(B) various taxes

(C) land grants

(D) None of the above

Rhea and Pachhra are the dresses of
(A) Tripuris

(B) Reangs

(C) Both (A) and (B)

(D) None of the above

The Gulf of Mannar separates
(A) India—Sri Lanka

(B) Mumbai—Goa

(C) Kerala—Lakshadweep

(D) None of the above

Which is not a part of the Vedas?
(A) Puranas

(B) Upanishads

(C) Brahmanas

(D) None of the above
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125.

126.

127.

128.

129.

130.

Who ascended the Mughal throne in
15567

(A) Babur

(B) Jahangir

(C) Humayun
(D) None of them

Cotton was first cultivated in
(A) Harappa

(B) Lothal

(C) Ropar

(D) Mehergarh
Which Mauryan
Jainism?

(A) Brihadratha
(B) Chandragupta Maurya

king adopted

(C) Bindusara
(D) None of them

Lucknow pact was signed between
(A) Muslim League and Gandhiji
(B) Humayun and Sher Shah

(C) Indian National Congress and
Muslim League

(D) None of the above

Which one of the following was not
associated with the Kushanas?

(A) Mathura art

(B) Gandhara art

(C) Ajanta paintings

(D) Fourth Buddhist Council

The capital of Kanishka was
(A) Kanauj

(B) Kanheri

(C) Kushinagara

(D) None of the above
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131.

132.

133.

134.

135.

136.

One of the founders of the Poona
Sarbojanik Sabha was

(A) Gopal Hari Deshmukh
(B) Gopal Krishna Gokhale
(C) Badruddin Tayabjee
(D) None of them

In which session of the Indian
National Congress was the Quit
India Resolution adopted?

(A) Wardha

(B) Bombay

(C) Tripuri

(D) Ramgarh

“A post-dated cheque drawn on a
crashing bank—was Gandhiji’s
opinion on

(A) Simon Commission

(B) Mountbatten Plan

(C) Cabinet Mission

(D) Cripps Mission

The technic of making clay pottery
originated during

(A) Mesolithic age

(B) Neolithic age

(C) Chalcolithic age

(D) Iron age

The ports which were used during
the Pala-Sena period are

(A) Tamralipta

(B) Saptagram

(C) Both (A) and (B)

(D) None of the above

One of the greatest sculptors of the
Renaissance period was

(A) Raphael
(B) Ghiberti
(C) Brunelleschi
(D) Donatello
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137.

138.

139.

140.

141.

142,

In Chinese history Co-Hong was an
organization of the

(A) Compradors
(B) Merchants
(C) Opium sellers
(D) None of them

Who among the following was never
the secretary-general of the NAM
(Non-Aligned Movement)?

(A) Josip Tito

(B) Gamal Nasser

(C) Jawaharlal Nehru
(D) Kenneth Kaunda

Who was known as the ‘Iron

Chancellor™?

(A) Metternich
(B) Bismarck
(C) Hindenberg
(D) None of them
Who among

a member of
Assembly?

the following was
the Constituent

(A) Sarojini Naidu

(B) Sucheta Kripalini
(C) Malati Chowdhury
(D) All of them

At present how many Articles
and Schedules are there in our
Constitution?

(A) 395 and 12
(B) 448 and 12
(C) 395 and 22
(D) 484 and 25

Choose the correct pair.
(A) Burma—France

(B) Congo—Britain

(C) Indonesia—Netherlands

(D) Algeria—Belgium

78

137.

138.

139.

140.

141.

142.

DI 2SR (F1-28 FIwE AfoDIe et 2
(A) Toifwee

(B) AP

(C) R R

(D) T (T3

G W (F LTS NAM (& fereors

) -9F GG - (S CTe R
12

A) s oo
(B) IINIe <TG
(C) &e2ee (T
(D) &1 el

@ ‘oz mieTER’ BetE wiffve fager 2
(A) CICGARE

(B) T

(C) fecwmaef

(D) 4MF (FT2 7T

GO T (& SRR TSR o7 2@ 2
(A) RIS T2y

(B) vt Femferat

(C) RIS CHIgR

(D) &1 AR

IHACA NIRRT o AR 93%
O ACCE 2

(A) 395 ¥<% 12

(B) 448 93 12

(C) 395 9% 22

(D) 484 ¢ 25

AT Cere Hize 79 |

A) IR—F™

(B) For—IcH

(C) BCHICH R —CTIRETS
(D) SIETCEIRI— (SR



143.

144,

145.

146.

Who is the author of Krishnamala?
(A) Krishna Manikya

(B) Ramganga Visharad

(C) Sheikh Manohar

(D) None of them

Sisir Kumar Ghosh was the editor of
(A) Ananda Bazar Patrika

(B) Jugantar

(C) Amrita Bazar Patrika

(D) None of the above

The author of Candide is
(A) Voltaire

(B) Montesquieu

(C) Rousseau

(D) Diderot

Choose the correct pair.

(A) Chittagong Armoury Raid—Lala
Hardyal

(B) Kakori Conspiracy Case—Surya
Sen

(C) Lahore Conspiracy Case—Jatin
Das

(D) Ghadr Party—Ramprasad Bismil
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147.

148.

149.

150.

Which of the following statements is
not true about Mao Tse-tung?

(A) He was born in Hunan province
of China.

(B) He never became the Chairman

of the Chinese Communist
Party.
(C) He was influenced by the

Revolution of 1911 and the May
Fourth Movement.

(D) He wrote the book On Guerilla
Warfare.

Who was elected President of the
Indian National Congress in 1924?

(A) Sarojini Naidu
(B) Annie Besant
(C) Abul-Kalam Azad

(D) Mahatma Gandhi

During whose reign was the State
Gazette published in Bengali?

(A) Bir Bikram Kishore Manikya
(B) Bir Chandra Manikya

(C) Radhakishore Manikya

(D) None of them

Which of the following universities
was founded by Dharmapala?

(A) Nalanda

(B) Vikramasila

(C) Benares

(D) Valabhi
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READ THE FOLLOWING INSTRUCTIONS CAREFULLY :
faferiere fde=en SiceT Fea =g

1.

10.

11.

12.

13.

Out of the four alternatives for each question, only one circle for the correct answer is to be darkened
completely with Black Ballpoint Pen on the OMR Answer Sheet. The answer once marked is not liable to be
changed.
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The candidates should ensure that the Answer Sheet is not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except at the specified space on the OMR Answer Sheet.
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Handle the Question Booklet and Answer Sheet with utmost care, as under no circumstances (except
technical defect), another set of Question Booklet and OMR Answer Sheet will be provided.
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The candidates will write the correct Question Booklet Number and OMR Answer Sheet Number in the
Attendance Sheet.
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Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile
phone, electronic devices or any other material except the Admit Card and Photo Identity Card inside the
Examination Hall/Room.
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Each candidate must show on demand his/her Admit Card and Photo Identity Card to the
Invigilator/Examination Officials.

] 20F1 TSGR FH (BN 2] (FCHR S0 ~ArHI-1B RFIT FEF WIS F1 2031 2T R O TG 1S €
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No candidate, without special permission of the Centre Superintendent or Invigilator, should change his/her
seat.
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Candidates will have to sign twice in the Attendance Sheet presented by the Invigilator on duty; first after
taking their seats in the Examination Hall/Room and second at the time of handing over their OMR Answer
Sheet to the Invigilator.

IR BASTGCAGC (TS SCHCS M- [ FFH FACS 2Cd, 2ALTA (A1 20 OIS 220eTd #1493 @R
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The candidates should not leave the Examination Hall/Room without handing over their OMR Answer Sheet
to the Invigilator on duty and without signing the Attendance Sheet twice. Cases where a candidate has not
signed the Attendance Sheet a second time will be deemed not to have handed over the Answer Sheet and
dealt with as an unfair means case.
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Use of any type of calculating device is prohibited.
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The candidates are governed by all the rules and regulations of the Board with regard to their conduct in the
Examination Hall/Room. All cases of unfair means will be dealt with as per rules and regulations of the
Board.
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No part of the Question Booklet and OMR Answer Sheet shall be detached under any circumstances.
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On completion of the test, the candidate must hand over the OMR Answer Sheet to the Invigilator in the
Hall/Room. The candidates are allowed to take away the Question Booklet with them.
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